Date: 2/14/2024 4:23:10 PM

GENERAL NOTES - :
WOOD ABBREVIATION LIST || PLAN LEGEND Digil signed by Rol
DESIGN A MEMBERS gnry Armstrong
A. GENERAL: 1. SAWN LUMBER: NO 2 SPRUCE PINE FIR OR BETTER, WWPA GRADING RULES. AB ANCHOR BOLT DN:|CN=Rolf Henry
1. CONTRACTOR SHALL VERIFY ALL DIMENSIONS AND JOB SITE CONDITIONS BEFORE COMMENCING WORK AND a. ALL LUMBER SHALL BE PRESSURE TREATED. ABV ABOVE A TO TOP OF ELEVATION Armsfrong, O="Eclipse [\
SHALL REPORT ANY DISCREPANCIES TO THE ENGINEER. 2. TIMBERS: NO 1 SOUTHERN YELLOW PINE OR BETTER, WWPA GRADING RULES. ARCH'L  ARCHITECTURAL ¥ : 2 > A~ \
2. USE WRITTEN DIMENSIONS. DO NOT USE SCALED DIMENSIONS. WHERE NO DIMENSION IS PROVIDED, a. ALL TIMBERS SHALL BE PRESSURE TREATED. BD BOARD Englneeflng, P.C.", C=US {
CONSULT THE ARCHITECT OR ENGINEER FOR CLARIFICATION BEFORE PROCEEDING WITH THE WORK. 3. POLES: CLASS 2 POLE COMFORMING TO ASTM D25-12, AND TREATED IN BLDG BUILDING Date: 2024.02.14 "
3. THE DESIGN, ADEQUACY AND SAFETY OF ERECTION BRACING, SHORING, TEMPORARY SUPPORTS, ETC. IS ACCORDANCE WITH ANSI 05.1 BLKG BLOCKING DENOTES FOOTING SIZE & 16:34°59-08'00" |
THE SOLE RESPONSIBILITY OF THE CONTRACTOR AND HAS NOT BEEN CONSIDERED BY THE ENGINEER. THE B. FRAMING ANCHORS AND CONNECTORS BTM BOTTOM REINFORCEMENT At
CONTRACTOR IS RESPONSIBLE FOR THE STABILITY OF THE STRUCTURE PRIOR TO THE COMPLETION OF ALL 1. "SIMPSON" OR APPROVED EQUAL AS INDICATED ON THESE DRAWINGS. BLW BELOW REF SCHEDULE ON SHEETS
SHEAR WALLS, ROOF AND FLOOR DIAPHRAGMS AND FINISH MATERIALS. 2. HEADLOK OR SPAX ARE APPROVED FASTENERS. BN BOUNDARY NAILING I I I O 3
4. ECLIPSE ENGINEERING, INC. HOLDS NO LIABILITY FOR UNAUTHORIZED CHANGES MADE TO THE C. NALING BRG BEARING REF DENOTES SHEARWALL ON <
CONSTRUCTION DOCUMENTS THAT RESULT IN DAMAGES. ECLIPSE ENGINEERING, INC. IS NOT RESPONSIBLE 1. FOR NAILING NOT SHOWN ON THESE DRAWINGS OR IN THESE NOTES, USE IBC BTWN BETWEEN PLAN D DETAILS AND PLAN Z g.'?
FOR DAMAGES THAT RESULT FROM UNAUTHORIZED CHANGES MADE BY THE OWNER, A CONTRACTOR OR A FASTENING SCHEDULE (TABLE 2304.9.1). g
BUILDING OFFICIAL, ETC. CANT  CANTILEVER REF SCHEDULE ON SHEET 3
5. CONTRACTOR SHALL VERIFY SITE REQUIREMENTS AND CONFIRM LOCATION OF THE ACTIVITY BASED ON SITE METAL CONNECTORS AND TREATED LUMBER CIp CAST-IN-PLACE e
SURVEY PROVIDED BY STONER & ASSOCIATES, INC. A. ALL STEEL FASTENERS, ANCHORS, AND CONNECTORS (E.G. POST CAPS, POST CMU CONCRETE MASONRY UNITS a o
B. I?ESIC%I\IID E?Tz%;(l)Aé v BASES, FRAMING ANCHORS, STRAPS, NAILS, ETC.) IN CONTACT WITH TREATED gtR gE'E“/IFERL'NE @ ggrsggi% SLFEILEJ%T'\IUEQ_ l\;llﬁngl-TEETS
2. FLOOR LIVE LOADS: ;‘;“T”ﬁiﬁfy,ﬁ%SEE STAINLESS STEEL OR BATCH/POST HOT-DIP GALVANIZED (PER CLSM CONTROLLED LOW-STRENGTH MATERIAL — L]
a. STAIRS N/A 1. NOTE: THE ICBO, AND MOST TREATED WOOD CHEMICAL SUPPLIERS, HAS NOT CcoL COLUMN A LL
b. LANDINGS 250 LB. POINT LOAD - TWO PEOPLE PER SMALL LANDING AND FOUR PEOPLE PER SPECIFICALLY APPROVED SIMPSON'S ZMAX FINISH (G185 HDG PER ASTM A653). CONC CONCRETE DENOTES KEYED NOTE =
LARGE LANDING. REFERENCE WWW.STRONGTIE.COM, T-PTWOOD 05 01/05. IT IS THE GENERAL cp CONCRETE PIER REF SCHEDULE ON SHEET S
c. ACTIVITIES 250 LB. POINT LOAD - LIMIT ONE PERSON PER ACTIVITY. CONTRACTOR'S RESPONSIBILITY TO VERIFY ALTERNATE ACCEPTABLE FINISHES DJ DECK JOIST Z P
3. WIND DESIGN DATA: -ASCE-7-16 AND/OR INSTALLATION METHODS FOR SPECIFIC TREATMENT CHEMICALS WITH DP DEEP _ w =
a. BASIC WIND SPEED -115 MPH (100 MPH - ASD), EXP. B (BOTH DIRECTIONS) THE BUILDING OFFICIAL. DBL DOUBLE > o
b.  WIND SPEED IN USE -40 MPH B. WHEN USING STAINLESS STEEL OR HOT-DIP GALVANIZED CONNECTORS, THE EN EDGE NAILING DENOTES OPENING IN FLOOR OR I I I 0 mB=Z
4. ALLOWABLE SOIL BEARING CAPACITY: CONNECTORS AND FASTENERS MUST BE MADE OF THE SAME MATERIAL. EA EACH ROOF FOR MECH'L DUCTS, ROOF =Sg
a. 1500 PSF (ASSUMED) C. IF FASTENERS ARE NOT OF THE SAME MATERIAL, THE DISSIMILAR METALS SHALL BE EW EACH WAY HATCHES, ETC. 3x
b. 0.3xDL PSF SKIN FRICTION W/ SAND (ASSUMED) SEPARATED WITH AN APPROVED NON-CORROSIVE PAINT OR SIMILAR APPROVED ELEV ELEVATION (CONTRACTOR SHALL ‘\\ Z 32° @
c. 250 PCF LATERAL BEARING PRESSURE ON NATIVE FILL (ASSUMED) MATERIAL. (E) EXISTING COORDINATE ALL ROOF, FLOOR, =g 2
5. ICE LOADING: 1" RADIAL ICE FLR FLOOR AND WALL PENETRATIONS WITH III L 849
FJ FLOOR JOIST THE MECHANICAL AND
FOUNDATION NOTES FND FOUNDATION ARCHITECTURAL DRAWINGS AND
A. ECLIPSE ENGINEERING, INC. HAS DESIGNED THE FOUNDATION ELEMENTS OF THE TOWER TO BE SUPPORTED ON FTG FOOTING THE MECHANICAL ENGINEER AND
SOIL WITH AN ALLOWABLE BEARING PRESSURE OF 1500 PSF. FW FOUNDATION WALL ARCHITECT PRIOR TO
B. IF THE SOIL AT THE SITE CONTAINS DISTURBED, ORGANIC, SILTY OR CLAYEY SOILS, A GEOTECHNICAL ENGINEER GC GENERAL CONTRACTOR CONSTRUCTION)
SHALL BE RETAINED TO DESIGN THE SOIL USED TO SUPPORT THE FOOTINGS, SLABS, AND OTHER FOUNDATION GA GAUGE
ELEMENTS.
C. IF GROUND WATER IS PRESENT AT THE SITE, OR IF THE SITE IS LOCATED IN A SLIDE AREA, OR IF THE SOIL IS FILL, ghB g;ﬁ;ﬁ“ﬁfﬁg&s DENOTES STRUCTURAL BEAM
OR IF THE SOIL IS OTHERWISE CONSIDERED UNSTABLE, A GEOTECHNICAL ENGINEER SHALL BE RETAINED TO o1 GIRDER TRUSS REF SCHEDULE ON FRAMING SHEETS
DESIGN THE SOIL USED TO SUPPORT THE FOOTINGS, SLABS, AND OTHER FOUNDATION ELEMENTS. oyP GYPSUM o
D. THE CONTRACTOR SHALL MAKE CERTAIN THAT THE BOTTOM OF ALL FOOTINGS EITHER BEAR ON NATIVE, HAS HEADED ANCHOR STUD CAMBER CAMBER = 0" LLl S
INORGANIC, UNDISTURBED, NON-SILTY, NON-CLAYEY SOIL OR STRUCTURAL, COMPACTED FILL. HAB HEADED ANGHOR BOLT UNLESS SPECIFICALLY 5] Lo
E. IF STRUCTURAL FILL IS TO BE USED, FILLS THAT SUPPORT FOOTINGS, FOUNDATIONS AND SLABS SHALL BE B - NOTED ON BEAM
DESIGNED AND INSTALLED ACCORDING TO THE GEOTECHNICAL REPORT. FILL AND THE INSTALLATION OF FILL HORIZ ~ HORIZONTAL C-3/4 D: N
SHALL BE DESIGNED AND SPECIFIED BY A GEOTECHNICAL ENGINEER LICENSED TO PRACTICE IN THE HSS HOLLOW STEEL SECTION = T sy —
JURISDICTION OF THE CONSTRUCTION SITE. KB KNEE BRACE )\ ) >
F. THE BOTTOM OF ALL EMBEDDED POLES SHALL BEAR ON NATIVE, UNDISTURBED, INORGANIC SOIL. THE BOTTOM MFR MANUFACTURER TOP OF BEAM ELEVATION
OF ALL POLES SHALL BEAR 6'-0" MINIMUM, UNLESS NOTED OTHERWISE, BELOW EXISTING GRADE. A LOCAL MIN MINIMUM '(FLUSH) DENOTES TOP OF BEAM O prd
GEOTECH SHALL BE RETAINED IF CONDITIONS ARE DIFFERENT THAN DESCRIBED IN THE GEOTECHNICAL MECHL  MECHANICAL IS FLUSH W/ FRAMING & o
REPORT. NTS NOT TO SCALE HIDDEN IN FLOOR O wm )
G. HELICAL ANCHORS SHALL BE PROVIDED BY AB CHANCE OR EQUIVALENT TO SUPPORT THE LOADS INDICATED ON (N) NEW — O? el
PLANS. (NS) NON-STRUCTURAL w o O
ocC ON CENTER
CAST-IN-PLACE CONCRETE OH OVERHANG INDICATES JOIST / TRUSS LLl O DO <L
A. CONCRETE: 0SB ORIENTED STRAND BOARD SIZE & SPACING 0 a8 o LL
1. DESIGN STRENGTH OPN'G OPENING
a. STRIP FOOTINGS, SLABS-ON-GRADE, FOUNDATION WALLS, AND RETAINING WALLS; F'C = 3000 PSI AT 28 OPP OPPOSITE O N om Jp)
DAYS, NORMAL WEIGHT PAF POWDER ACTUATED FASTENER XXX @ X'-XX" O.C. O ©© o
b. SITE - SLABS-ON-GRADE; F'C = 3000 PSI AT 28 DAYS, NORMAL WEIGHT, AIR ENTRAINED PL PLATE n: i
2. MAXIMUM COARSE AGGREGATE SIZE: 3/4" INCH, U.N.O. PLYWD PLYWOOD (INDICATES SIZE D LIJ
3. MAXIMUM SLUMPS: RAD RADIUS
a. FOOTINGS AND FLOOR SLABS: 4 INCHES (+) 1/2" TO (-) 1: REF REFERENCE & SPACING) INDICATES AREA OF COVERAGE Lil &
b. FOUNDATION WALLS AND COLUMNS: 3 INCHES (+) 1/2" TO (-) 1" REINF REINFORCEMENT — =
c. ENNTgAlNED AIR: 5% (+ OR -) 1 1/2%; USE ONLY FOR EXTERIOR EXPOSED CONCRETE FOR DURABILITY, REQD REQUIRED O E
N.O. RR ROOF RAFTER
d. CURING COMPOUND: ASTM C309, TYPE 2, CLASS B SHTG SHEATHING 0 (al
e. CONSTRUCTION TO BE IN ACCORDANCE WITH ACI 301 SIM SIMILAR <
f. LOCATION OF CONSTRUCTION OR POUR JOINTS MUST BE APPROVED BY THE ENGINEER OF RECORD Sy SLAB JOINT
UNLESS OTHERWISE SHOWN ON THESE DRAWINGS. SOG SLAB-ON-GRADE SHEET LIST LO ;
B. REINFORCING STEEL: STD STANDARD S04 GENERAL STRUCTURAL NOTES & SIS
1. USE ASTM A615 - GRADE 40 FOR #3 REINFORCING BARS, GRADE 60 FOR #4 AND LARGER REINFORCING BARS. STL STEEL S10  SITEPLAN
2. PROVIDE CLEARANCE AND COVER OF REBAR AS DESIGNATED IN ACI-318. STRUCTL STRUGTURAL :
C. WELDED WIRE FABRIC: S2.0  PLANVIEW
SUBFLR  SUBFLOOR
1. USE ASTM A82 AND A185 (SHEETS ONLY) oy SHEARWALL S21  NORTH AND SOUTH ELEVATIONS
STRUCTURAL STEEL
A MATERIAL TO TOP OF S23  SECTION VIEW ELEVATION
1. SHAPES, PLATES AND BARS (EXCEPT W-SHAPES): ASTM A36, FY = 36 KSI TOB TOP OF BEAM S40  STRUCTURAL DETAILS
. W-SHAPES: ASTM A992, FY = 50 KSI TOF TOP OF FOOTING ELEVATION S4.1 STRUCTURAL DETAILS REVISIONS
3. PIPE: ASTM A53 OR A501, FY = 35 KSI MIN. TOP TOP OF PIER ELEVATION S4.2  STAIR DETAILS
4. TUBES (INCLUDING HSS): ASTM A500, GRADE B, FY = 46 KS| OR GREATER. TOS TOP OF SLAB ELEVATION S43  STRUCTURAL DETAILS
5. GUY WIRES: 3/8" DIAMETER 7X19 316 (BREAKING STRENGTH = 12,000 LB.) TS TUBE STEEL S44  STRUCTURAL DETAILS
6. CROSS CABLES: 1/2" DIAMETER 6X19 316 (BREAKING STRENGTH = 22,800 LB.) TYP TYPICAL .
7. ACTIVITY CABLES: 3/8" DIAMETER 7X19 316 (BREAKING STRENGTH = 12,000 LB.) e——— UNO UNLESS NOTED OTHERWISE
8. SAFETY CABLES: 3/8" DIAMETER 7X19 316 (BREAKING STRENGTH = 12,000 LB.) -Wy/”wf VIF VERIFY IN FIELD
B. BOLTS BN VERT VERTICAL
1. CARBON STEEL: ASTM A307 MACHINE BOLTS (M.B.) UNLESS OTHERWISE INDICATED AS A325 HIGH STRENGTH ® WD WOOD
BOLTS "SET" (H.S.B.) WWF WELDED WIRE FABRIC
2. STAINLESS STEEL: A193 FOR THREADED ROD OR SS 316 BOLTS AND HARDWARE
3. EXPANSION BOLTS (E.B): "HILTI KWIK BOLT TZ" OR APPROVED EQUAL. ADHESIVE ANCHORS: 'HILTI' "HIT RE
500" OR APPROVED EQUAL, WHEN REQUIRED
4. ANCHOR BOLTS: ASTM F1554, GRADE 36, FY=36 KSI, WHEN REQUIRED
C. WELDING ELECTRODES OR WIRES
1. AWS A5.1 OR A5.5, E7T0XX: AWS A5.18, E70S-X.
2. WELDING SHALL CONFORM TO AWS " CODE FOR ARC AND GAS WELDING IN BUILDINGS". | k= |
3. ALL WELDING SHALL BE PERFORMED BY A CERTIFIED WELDER. TEe————
D. PROTECTION AGAINST CORROSION: el v/‘."';r g
1. STRUCTURAL STEEL AND FASTENERS THAT ARE PERMANENTLY EXPOSED TO THE WEATHER SHALL BE HOT- \w—f:;:j” YA )
DIP GALVANIZED IN ACCORDANCE WITH ASTM A123 AND ASTM A153, CLASS 'B'. REPAIR GALVANIZING AFTER N\ //J/{[/f’ — o ~—

WELDING IN ACCORDANCE WITH ASTM A780.
2. AS AN ALTERNATE, STAINLESS STEEL MAY BE USED IN PLACE OF HOT-DIPPED GALVANIZED FASTENERS
WHEN AVAILABLE.
E. ERECTION
1. ERECTION AND FABRICATION SHALL BE IN ACCORDANCE WITH AISC "SPECIFICATIONS FOR DESIGN,
FABRICATION AND ERECTION OF STRUCTURAL STEEL FOR BUILDINGS."

|
1
i
T
e
T
—
o
L
L
iE
=
1
1
1
i
]
=

1T
1T
m
I
I
M

I
I
i
1
il
I

|

T}
[
I
1]
Ml

7T
—

11T

[]
1]
1]
1]
1]
1]

GENERAL STRUCTURAL NOTES &
SIS

i
1T
I
L1
I
Il
11
T
1T
i
11
i
1
i
1

l
1

1T
Tt
i
I
1

1
I
T
T
T

I}
I
I
T
I

T}
1T
T
i
1
T
T

l
|
[T}
10
I
1l
Ml
T
11
i
1]
T
i
I
1
1
1]
I
T
1

|
1|
i
I
{11
i
I
1
Hi
—|
\
il
T
I
11
I
i
I
1M

I}
1T
I
111
I
T
1
T

T
T
I
1]
]
Tl
T
|
=1
I
T
i
1]
T
T
T
1
T}
]

7T

1l
1]
T

Tl

T}
i
I
1M

1
1
I
I
T
I
.
o
111
I

LT

T
I
I
I
1
I
I
I
I
I
]
11
T
I
T

|

I
I
i
1
I
I

ik
Tl]
Ml
1T
T
Tl
T}
0
i
TT]
T
M

{10
I
I
111
I
I
I
1
I
‘\L
\
|
I
I
I
I
1l
]
11
I
T
I
I
I

T}
I
o
M

|I=]
i
I

1
—Il

l=
[T
il
E
@

[T

1}
1]

T
I
I
I
Il
11
I
I
I
111
I
Hi
11
I
111
I
I

i
1
1
T
1T
|
|
o
i
1
0T
I
110
I
T
1l
[
I
T
11

1

T

T
I
111
o
I

1
111
I
I
T
I
.
L
11
I

11

I
L
T
T
W

l

PROJ. #: 23-12-045
CHECKED BY: RHA

1
I
111
I
i
T

T
[
@
1]
=
il
1l
1]
T:L
E
E
1]

I
\l
1
1]
T}
11
1]
=

11
I
I
111
I
I
T
I
T

T}
1
I
T
m
T
Im
1T
I
i
1
m
T
|
|

1
1
I
T
T
T

I
1
T
I
I
I
1

11

I

T
I
I

|
i
1T
I
1T
I
1l
T
1T
I
1
I
T
1
I
|
|
=

I
1
11

1M
1
{1f

1l

1Tl

1Tl
1]
11
{1]
41:

11T

e e e = I e e e e e e e e T T T =T = e e e e e e e T =T = e e D e T T = T s =Nl DRAWN BY: MM
[0 T T e e e e T T I e e e e = I e e e T N e e e e T M T Tl :
S e e L e e e e e ey e T T DATE: 02142024
Rl e ey Egﬁ\:\\ﬁlﬁz‘ﬁgﬁ;mzmzmzmz\ =1 \zm%ﬁz”ﬁ@ﬁlﬁ@ﬁ;m;m;m;m;mz\ EIEIE w:m:‘mﬁgﬁgm;m;m;m;m; =TT e SHEET

I

1
I
T
T
T
T
11

1
I
Il
I
I

M
I
m

1
m
I

111
I
1T

1l
1l

I TTT==177 7 —
TE 7l // JE 7l Z 7 Z
I

I

S0.1

I

PERMIT SET




| N
(541) 389-9659

ECLIPSE-ENGINEERING.COM

BEND, OR 97701

=
|
|
|
|
|
|
|
|
|
|
|
|
pe
~
N
365 NE QUIMBY AVE

5 POLE ROPES COURSE
DC SPORTS

o> | | ] :
>
<
z .
T © A NTERLINE OF TOWER — TN
" ‘ 6! _ Ou_ P \‘ ‘ _ L J
: / g =
> \ | ( I |
- _ ' . _ | | ‘\ “JJ;EDJ |_\
\ | all m aﬂf |
| | o ol L | N Ej‘
‘ I h | P T \\¥ = 7|T5
:‘ " ##C\‘*****’ |
R ] L IEN—T o
oy 5 | Crie—r—= - = —
‘ @ﬂij‘ |

1630 US-9
WAPPINGERS FALLS, NY 12590

| TRENCH
PARKING LOT
CENTERLINE OF TRENCH

.
\\

REVISIONS

SITE PLAN

SITE PLAN
SCALE: 1"=30'-0"

Date: 2/14/2024 4:23:10 PM

PROJ. #: 23-12-045

PERMIT SET

CHECKED BY: RHA
DRAWN BY: MM
DATE: 02.14.2024
SHEET

S1.0




Date: 2/14/2024 4:23:11 PM

US HIGHWAY 9

PLAN VIEW

BEAMS

S2.2

8" MIN LOG CROSS ——

S2.3

PRE FAB QUICK JUMP
MOUNT BY MFR

ACTIVITY/BELAY
CABLES PER GSN TYP;
REF ELEVATIONS

/4

S2.2

dac|
N\
4\
\
\
P L

LT

‘x CENTERLINE OF TOWER

\ / CENTERLINE OF TRENCH

\12' -6"

| —EXIT STAIRS

N

| &)

PARKING LOT

A2\
\s2.1/

NOTE: PROVIDE PERIMETER SECURITY
FENCE AND GATE AT ACCESS STAIRS

NOTE: THIS STAIR ENTRANCE IS AN ELEMENT
AND PARTICIPANTS WILL BE ON BELAY

0" FENCE AND GATE AT ACCESS STAIRS

NOTE: PROVIDE PERIMETER SECURITY /

AND INCORPORATE INTO POOL
SECURITY GUARDRAIL AND FENCE

SCALE: 1/4"=1'-0"

(541) 389-9659

ECLIPSE-ENGINEERING.COM

365 NE QUIMBY AVE
BEND, OR 97701

5 POLE ROPES COURSE
DC SPORTS

1630 US-9
WAPPINGERS FALLS, NY 12590

PERMIT SET

REVISIONS

LL]

>

prd

<C

1

(al
PROJ. #: 23-12-045
CHECKED BY: RHA
DRAWN BY: MM
DATE: 02.14.2024
SHEET

S2

.0




PRE FAB QUICK JUMP
MOUNT BY MFR

A T.0. LANDING 3

W24 - 6"

A T.0. LANDING 2

V112 -6"

A TO SLAB

VY 104-0"

A FINISHED GRADE

100" - 0"

A B.0.LOGS

Date: 2/14/2024 4:23:12 PM

N 93! _ 0"

8" MIN LOG CROSS BEAMS
SEE PLAN AND
DETAIL 5/84.1

—— SAFETY CABLE REF
GSN

OVERHEAD ACTIVITY
CABLE REF GSN

SAFETY CABLE REF
GSN

/

= \ 2x4 LADDER RUNGS w/(2)

SDS25312 @ EACH 4x4

UPRIGHT; TYP

OVERHEAD ACTIVITY

CABLE REF GSN

FOOT ACTIVITY

SEE PLAN 6/S4.0 TYP

CLASS 2 POLE TYP

: / (E) CONC SLAB .

i '
CABLE REF GSN / |
TYP W

0
|
|

A, T.0. LANDING 3

8" MIN LOG CROSS BEAMS
SEE PLAN AND DETAIL
5/84.1

Y 124-6"

A, T.0. LANDING 2

112 -6"

POOL PERIMETER GUARDRAILS

BY OTHERS

(E) FOUNDATION WALL

A, TO SLAB

104 - 0"

A FINISHED GRADE

1O

\ SAFETY CABLE REF

GSN

OVERHEAD ACTIVITY
CABLE REF GSN

OVERHEAD ACTIVITY
CABLE REF GSN

PLATFORM BRACING ——

SEE PLAN 6/S4.0 TYP

m}]

\ SAFETY CABLE REF

GSN

\ CLASS 2 POLE TYP

5
1
[[]

100" - 0"

(E) CONC SLAB

B.O.

—

\ FOOT ACTIVITY

CABLE REF GSN

\

4 NORTH ELEVATION
SCALE: 1/4" = 1'-0"

OGS

93' -

(e}

il
EHEEEEEEEEEEEEEEEEEEEEEE S E S
e e

| e e e L T T T e T T T T
T T 0 T 0 0 T T T T I T T 0 T T T T T T T T
|

i *

IEEEIEIE

g
=T
— =]
=T
E=TE=IETEE
E=TE=IETEE
ﬁmﬁmﬁmﬁmﬁ’
=== =

2x4 LADDER RUNS
W/(2) SDS25312 @ EACH 4x4
UPRIGHT; TYP

STAIRS

TO (E) CONC WALL

o SOUTH ELEVATION
SCALE: 1/4" = 10"

PERMIT SET

& =
o N
) >
'S =
U) -
N v
L o> <
N O o W
O PBw
o O = ne
T
- =
O (al
(al
an <
LO =
REVISIONS
)
=
O
|_
<t
=
Ll
—
LLl
€I
|_
-
@)
)
=)
prd
<
I
|_
o
@)
prd
PROJ. #:
CHECKED BY:
DRAWN BY:
DATE: 02.14.2024
SHEET

S2.1

(541) 389-9659

ECLIPSE-ENGINEERING.COM

365 NE QUIMBY AVE
BEND, OR 97701




Date: 2/14/2024 4:23:14 PM

| N
(541) 389-9659

o ]
A L
5
&}
b 2
=
S Ll o
2 _ 4
> o =
LL o 35
2
W\ = 384
Zzoo
Y / /A
L $am
PRE FAB QUICK JUMP 8" MIN LOG CROSS BEAMS
MOUNT BY MFR SEE PLAN AND
8" MIN LOG CROSS BEAMS DETAIL 5/S4.1

SEE PLAN AND
DETAIL 5/54.1

A T.0. WOOD POLE A T.0. WOOD POLE

+134"-0" +134"-0" \\

= LlJ N
o S =y | — N LO
AN A : 0 N
—
OVERHEAD ACTIVITY — >=
CABLE REF GSN SAFETY CABLE REF - O Z
GSN o
OPsyvi
SAFETY CABLE REF o0 T ]
GSN OVERHEAD ACTIVITY Cf) N
/ T.0. LANDING 3 | | | | /. T.O. LANDING 3 — | oA T CABLEREF CABLE REF GSN | g Ll O DO <
246 | | | | 246 ul | | h N AL o LWL
N om
\L 2 \J} EL/ | B/ PLATFORM BRACING —/'\Jﬁ 1 I O cO %8
. . | SEE PLAN 6/S4.0 TYP N1 O 50
PLATFORM BRACING o 0 LLl
SEE PLAN 6/S4.0 TYP ] A 5
i ~ I ; S N 1L L =
- i3
OVERHEAD ACTIVITY | P O &
CABLE REF GSN OVERHEAD ACTIVITY 1 ; 0
| CABLE REF GSN A <
SAFETY CABLE REF D | I LO ;
2x4 LADDER RUNGS w/(2) i
I SDS25312 @ EACH 4x4 A
/4 T.O. LANDING 2 | | | | /4 T.O. LANDING 2 TN | UPRIGHT; TYP
112 - 6" \ \ \ , \ 112 - 6" o ° \ \
4 N | N N
: : - %
NOTE: SEE COMMENTS ON ! s
POOL PERIMETER GUARDRAILS ° CLASS 2 POLE TYP O SHEET S4.2 FOR STAIR DETAILS " ° REVISIONS
BY OTHERS POOL PERIMETER GUARDRAILS
BY OTHERS
(E) FOUNDATION WALL N
(E) FOUNDATION WALL
(4 - | /2
\r Ny \ | $4.2 /
, TO SLAB3 | I . T.O.SLAB . | CLASS 2 POLE TYP
104" - 0" o T T +104'-0" TEE — l |
o e e e | | g T T g e H 1
IEEIEEE 1) =l Sh=n=nl=l === Sil - Tvp (517 3
S=EAN=NE=E i) T =N IR = i | -
=A== == — === = L , b
BT AT ' il T ST oIt 3
4+ FINISHED GRADE SEA=l=l=E ﬁ | ) B = (s FINISHED GRADE [ /(=11 /= 11— ] 1 , l N U S S
100" - 0" ==L ! ! E Y7100 - 0" SEEEEEEE | - .o !
S ETETEIE S - ol =N E=E= S -~ T A B
| =TS TET RN NSNS NSNS ENETETE NN NS SEEIEIEIEIE = = 5 EM:M:M:M:M:m:m:m:m:m:m:m:m:m:m:m:m:M:M:M:M:M:M:M:M:M:M:MEm:lﬁfm:m:m:m:m:m:lﬁ>
e T Tl == 1 =T AT Tl Tl =T = T = =T =TT T =TT el T =T =Tl =TTl el D e e T e T L Ol M e I
(E) CONC SLAB sEEEEEEEEEEIEILE HEﬁzﬂzﬂzﬂzﬂEﬂEﬂEEEEEEEEEEEEEﬂEﬂEﬂEﬂEﬂ;ﬂ;ﬂ;ﬁ;ﬁ;ﬂ;ﬂ;ﬂ;ﬂ;ﬂ;ﬂz = IEEEEEEED (E) CONC SLAB ————H=1= | == IHIHI= = =TT = n EEEEEEHEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE@E@E@EHEE;H =l zﬁzﬂzﬂzﬂzﬂzﬂzﬂzﬂ
=== = = = TR P === == = == = = = === == = = T = === === === == = RS === = =R = === = =R RS = =R ===
| === = = = TR == == = == = = === == = = = = | === = == = N == = == == = === == = = == AN = = = == =T
e e e e e e e s e e e e | e e e e e e e e e e e e e s e e e e e e e e e e e e e e e e e e e e ] m:M:M:M:M:M:M:M:M:M:M:M:M:M::M::m:m:m:m:m:m:m:m:m:m:m:m:M:m:m:m:M:M:M:M:M:M:M:M:M:M:M:M:g:M::E:M:M:M:M:M:M:U
IEEEEEEEEEEE S EEEEEEEEEEEEEEEEE EEEEEEEEEEEEE E S EETELETETELE [ === = == = N == = == == = === == == =TI B = = == =T
e T e T T T T T T T AT T T T T T T T T T T T T T T T T T T T T e T T T T e e e e T T T T e i e L e L b L ol
h, B.0.LOGS e e e e T s = ) = = = = = = = = = = = = = = = == == = = == = EE = = E = E = E = h, B.0.LOGS === e e e == s e = e e = = e = = = T e = = = = = = = = = = = = = === == = == == = =]
v 93-0 | = = T = e = S e ] T = e T H e T e e = e T = ] T e e = T T T = T = +93°-0 ) L= H = T = H = M T e T = T T = e e T = e TN e T = e = = T H = T = e Tl VS = T =T T

1 WEST ELEVATION 2 EAST ELEVATION
SCALE: 1/4"=1'-0" SCALE: 1/4"=1'-0"

EAST AND WEST ELEVATIONS

PROJ. #: 23-12-045
CHECKED BY: RHA

DRAWN BY: MM
DATE: 02.14.2024
SHEET

S2.2

PERMIT SET




(E) CONC SLAB

A T.0. WOOD POLE

OVERHEAD SAFETY CABLE

134 0"

T.0. LANDING 3

OVERHEAD ACTIVITY CABLE

FOOT ACTIVITY
CABLE REF GSN

A )
W24 -6

A T.0. LANDING 2

OVERHEAD SAFETY CABLE
OVERHEAD SAFETY CABLE

OVERHEAD ACTIVITY CABLE

MAX ALLOWABLE ACTIVITY
AND BELAY CABLE SERVICE
TENSION LOADED = 1500 LB

+112'-6"

POOL PERIMETER GUARDRAILS
BY OTHERS

(E) FOUNDATION WALL

FOOT ACTIVITY
CABLE REF GSN

PLATFORM BRACING
SEE PLAN 6/S4.0 TYP

A T.0. SLAB

104 - 0"

 FINISHED GRADE

(1 1vp

100" - 0"

A B.O.LOGS

8" MIN LOG CROSS BEAMS
SEE PLAN AND
DETAIL 5/84.1

CLASS 2 POLE TYP

z
-
N

365 NE QUIMBY AVE

cL}J) >
Lo
o N
) >
'S =
Ofea
N v
U OO =
A A o L
O PBw
Q:OHD:
T
- =
O (al
(al
an <
LO =
REVISIONS

e e e e e e e e U
IEEEEEEELEE
Mﬁmﬁmﬁmﬁmﬁmﬁmﬁmﬁm\:
e e T e = == ==l =]k

'

= [ A T T T =
sl e =R
(e g e s e e e e |
g | s s et s e e e e |
(e s s e e e e e e |
(e s s e e e e e e |
ElEE=E=E== === ]
ElEE=E=E== === ]
ElEE=E=E== === ]
==
=]

= s s s e e = = = = T = ==

\),/ 93! _ Oll

TYPICAL SECTION

EEEEEEEEEEE EEEE == E = = = = = === = == = = == = = E =
Bl el el = Tl T e =T

.

T =T == T

== E e e ===
lﬁMﬁMﬁMmMmMmMmMﬁMmMmMmMmMmMmMﬁMﬁMﬁMﬁl
,\:m:m:m:m:m:m:m:m:m:m:m:m:m:m:m:m:mf’
ElEEEEEEEEEEEEEEEEE
ElIEEEEEE SRS ETEEETE
ElIEEEEEE SRS ETEEETE
ElIEEEEEE SRS ETEEETE
ElIEEEEEE SRS ETEEETE
| =N T
e e e e e T e T T T T T T T
e EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEETEEETEEEE

SECTION VIEW ELEVATION

PROJ. #: 23-12-045

CHECKED BY:

DRAWN BY:

Date: 2/14/2024 4:23:19 PM

SCALE: 3/8"=1'-0"

DATE: 02.14.2024

PERMIT SET

SHEET

S2.3

(541) 389-9659

ECLIPSE-ENGINEERING.COM

BEND, OR 97701




Date: 2/14/2024 4:23:19 PM

QUICKJUMP

| (5

! ! S4.0/TYP
I I |1 H |
L ")
1 T.0. LANDING 2 - 112'-6"
SCALE: 1/4" = 1'-0"
NOTE:
ALL PLATFORM FRAMING TO BE 2x6 OR (2) 2x6
o N MEMBERS AS SHOWN U.N.O.
S4.0 LUS26-2 TYP
A (1) 3/4" @ THRU BOLT OR
el (1) 3/4" @ THRU BOLT OR THREADED ROD w/ STD NUT = - =5
THREADED ROD w/ STD NUT AND WASHER AT EACH END
AND WASHER AT EACH END |
B ]
=11 =" R B
. AN ‘ “ ” ‘ . . I//(A /M ﬁfr\:\/ ﬁ
E\ ° o H @ M‘ /o}] K::::::IRMJd
' | a B Bl
N | | » .
1| | o r
[ 3 q b
0
N LUS26, NOTCH NOT 7 — b
e TO EXCEED 25% ,:::::,ﬂ o T
A MEMBER DEPTH
2| - Oll - -
" A
o —
SECTION A-A

TYPICAL ENLARGED PLATFORM FRAMING PLAN

TYPICAL PLATFORM BRACING SCAE 38 =10

@

O

SCALE: 3/4"=1'-0"

T.0. LANDING 3 - ELEV 124'-6"

QUICKJUMP

SCALE: 1/4"=1'-0"

O,

4x4 SHOULDER BLOCK w/ (4)
1/4"x5" SDS SCREWS TO RIM

3/4" THROUGH BOLT

LADDER POST

| _— 2x6 FLAT BRACES

‘ % - | TX ' TO POST
(2) 1/4"x5" SDS SCREWS — | H, H
N /
\\ // PLATFORM
A RIM JOIST

£
AN

(2) 1/4"x5" SDS —
TOE SCREWS L |

PLATFORM BELOW

>
e

PLATFORM AT LADDER SUPPORT

NOTE:

ALL PLATFORM FRAMING TO BE 2x6 OR (2) 2x6
MEMBERS AS SHOWN U.N.O.

S4.0

1T

4 b

TYPICAL PLATFORM WITH CLIPPED CORNER

LUS26-2 TYP SIMPSON LS50

(2) 2x6

SCALE: 3/4"=1'-0"

O

SCALE: 3/4"=1'-0"

SIMPSON LS50
ﬁ(
—

(541) 389-9659

ECLIPSE-ENGINEERING.COM

365 NE QUIMBY AVE
BEND, OR 97701

5 POLE ROPES COURSE
DC SPORTS

1630 US-9
WAPPINGERS FALLS, NY 12590

PERMIT SET

REVISIONS

0p)

=

<

-

L

(-

—l

<

o

-

-

O

=

o

-

0p)
PROJ. #: 23-12-045
CHECKED BY:  RHA
DRAWN BY: MM
DATE: 02.14.2024
SHEET

S4.0




Date: 2/14/2024 4:23:19 PM

FINISH GRADE

MIN 7FT EMBEDMENT W/ NATIVE FILL

WOOD POLE
-PER NOTES

FINISH GRADE

NOTE:

IF GEOTECHNICAL REPORT CONFIRMS

PASSIVE SOIL CAPACITY OF 400 PSF

OR GREATER 6FT OF EMBEDMENT MAY BE USED

NOTE:

CONFIRM POLE EMBED
w/LOCAL SOIL
CONDITIONS AND/OR
GEOTECHNICAL
REQUIREMENTS

5'-0" MIN EMBED

] le——— 3-0" CULVERT

1 PIER FOUNDATION DETAIL
SCALE: 3/4"=1'-0"

/
@@ﬁ
3 1/2'M

CROSS BEAM

(2) 3/4"@ THRU BOLT
OR THREADED ROD

WOOD POLE
-PER NOTES
¥ NATIVE FILL
NOTE: oz
GC TO VERIFY =
SOIL CONDITIONS
| 1/2'x6" STAPLE
ioves: L B==
- 8" CRUSHED ROCK FILL ng ES-V(\?E(EEDN TO
syeed /PER SOILS REPORT RNaiSe

AT TOP OF GUY WIRE
CABLES PER PLAN

\
WOOD POLE

-PER NOTES

QoNRelo, 12" CRUSHED ROCK AT
5 @ei /B 2 CRUSHED ROC! 3 GUY LINE DETAIL
—t SCALE: 3/4" = 1'-0

SCALE: 3/4"=1'-0"

CROSS BEAM

(2) 3/4"@ THRU BOLT
OR THREADED ROD

. WOOD POLE

WOOD POLE
PER PLANS

PER PLANS

5 HORIZONTAL POLE ELEMENT TO WOOD POLE CONNECTION
SCALE: 3/4"=1'-0"

@ OPTIONAL CULVERT FOUNDATION DETAIL FOR POOL CONDITIONS

CABLE PER PLAN W/
SWAGED CONNECTION
PER CABLE
REQUIREMENTS

(O™

\— WOOD POLE PER PLAN

— 3/4"@ THIMBLE EYE BOLT

O

GUY CABLE POLE ATTACHMENT

4
Q SCALE: 3/4" = 1-0"

(541) 389-9659

ECLIPSE-ENGINEERING.COM

365 NE QUIMBY AVE
BEND, OR 97701

5 POLE ROPES COURSE
DC SPORTS

1630 US-9
WAPPINGERS FALLS, NY 12590

PERMIT SET

REVISIONS

0p)

=

<

-

L

(-

—l

<

o

-

-

O

=

o

-

0p)
PROJ. #: 23-12-045
CHECKED BY:  RHA
DRAWN BY: MM
DATE: 02.14.2024
SHEET

S4.1




Date: 2/14/2024 4:23:19 PM

4x4 —\
2x2
BALUSTERS
4'-0" MIN
* CLR
N1 [ =
N [¢ X
(E) SLAB N | N° =
™ Q NOTE:
FOR STRINGER LENGTH LESS THAN 8'-0",
i [ = N o % USE OUTSIDE STRINGER ONLY. FOR
1l H I STRINGERS 8'-0" - 12'-0", USE (2) 4
———————— \ ] b INTERIOR CUT STRINGERS 3
(I s s s s = v E=dTEF— <
:m:m:m:m:m:m:m:m:J ,A\ S “1F1F E
m:m:m:m:m:m:m:m:m: N + M + < <
:m:m:m:m:m:m:m:m:J L . =)
MﬁMﬁMﬁMﬁMﬁMﬁMﬁMﬁM L] NOTE: o
— IEEEEEEEE GUARDRAIL SHALL BE TYPICAL AT g
< === AT | ALL STAIRS, LANDINGS AND PLATFORMS
EEEEEEEEETE =
—| | ||| = =] =l =] A =] =] +
— IEEEEE=EEEE (2) #10 WOOD SCREW
; = = T T e T T -TOP & BOTTOM 1 HE '
" Mﬁﬁﬁﬁﬁm‘:\ WMmMmMmM ] R
DNE=l=lE==lE=lE==] 2x12 TREADS ) J L. -4}
< (E) FOUNDATION — el AT LR BEYOND HE L
2x12 TREADS AT — \ ] WALL v U !
7" RISE & 11" RUN ~ \ ¥ A=
2%12 STRINGER N A SIMPSON TA10Z TYP
2x12 STRINGER _ A}
NOTE: STAIR STRINGER MAY <

BE CUT OR SUPPORTED
BY SIMPSON TA10Z

STAIRS TREAD DETAIL

STAIRS AND GUARDRAIL DETAIL

2x6 CONT HANDRAIL

(2) 3/8"@ CARRIAGE BOLTS
(& AT EA BALUSTER

1 1/2" HANDRAIL

PT 4x4 BALUSTER @ 4'-0" OC

STAIR TREAD

N/

(2) 3/8"@ BOLTS - TOP & BOTTOM
AT 4x4 POSTS

GUARDRAIL SECTION DETAIL

(2) 3/8"@ BOLTS AT EA
BALUSTER w/ MIN 2 1/4"2
WASHER EA SIDE

PT 2x12 STRINGER

2x10 CUT INTERIOR
STRINGER - SEE NOTE

O

MATERIAL TO 95% MDD ———~ R == = = = =
e T T s

SCALE: 3/4"=1'-0"

PT 2x10 LEDGER W/
(4) 5/8"@ HILTI EPOXY BOLTS

SIMPSON LUS 210

PT THREADS AT 8" RISE

PT 2x STRINGER ——

2x PT RIM

2x4 PT SILL w/ SIMPSON
3/8" DIA TITEN HD 12" OC

(E) CONC SLAB

NATIVE MATERIAL
COMPACT
UNDISTURBED

ACTIVITY STAIRS

I I T T T

SCALE: 3/4"=1'-0"

SCALE: 3/4"=1'-0"

@

SEE DETAIL 3/S4.2 FOR
GUARDRAIL REQUIREMENTS.

2x PT RIM

2x4 PT SILL w/ SIMPSON
3/8" DIA TITEN HD 12" OC

TO LANDING 4+
< o< < =< 112'-6" ¥
AND 9" RUN —\~ E\ R
H. o L]
— - —
+
——
i
= <
S PT 2x10 LEDGER W/
SIMPSON ACE TO STAIR LANDING RIM (4) 5/8"2 HILTI EPOXY BOLTS
A (E) CONC SLAB
N SIMPSON LSU28
TO SLAB 4, (E) FOUNDATION WALL
104-0" ¥ 4x4 POST AT CENTER OF STAIR SUPPORT
. TO SLAB
/ ' 104-0" PT 2x12 THREADS AT 7"
RISE AND 11" RUN
ﬁmﬁmﬁmﬁmﬁmﬁ %Mﬁm (— NOTE:
EEEEEEEEL
(E) FOUNDATION WALL @ﬁ@ﬁ@ﬁ@ﬁ@ﬁ@ﬁl *@ﬁ R _
IEIEIEIEIEEREE
TN
e T T T =
IEIEIEIEIEIEEE
=lI=E=EEEEETE o< TYP
MﬁMﬁMﬁMﬁMﬁMﬁMﬁMﬁ p———n
SIMPSON ABU POST BASE TO CONCRETE SLAB == = = T
T T —
:7:7:7:7:7:7:7: _ D_
T e T T e ~F
= FINISH GRADE 4 === l=E= === PT 2x STRINGER
100-0" ¥ mﬁmﬁmﬁmﬁmﬁmﬁmﬁmﬁ -
$ F|N!S|"’| GRADE EEEEEEEEEEEEHEHE
100'-0 ﬁﬂﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬂﬁﬂ
[T T T T T T T T T [ T [ T T T [—[ T [— [T === == =] =
== === == E i e e e e e e
=== = = = s = = = = == === ===

(E)FTG

CODE COMPLIANT STAIRS

Il g L L L

/ (E) CONC SLAB

NATIVE MATERIAL
COMPACT
UNDISTURBED
MATERIAL TO 95% MDD

O

SCA

LE: 3/4"=1-0"

SCALE: 3/4"=1'-0"

O

PERMIT SET

LLIC =
Wz ¢
O
P ]
A L -
wZ.:
Ll o :=2
Wz 58]
Y / /BN EEE
o
h 2
o N
) >
@) pd
CPou
) @ on
Ll O DO <
A A o L
OB
o O = ne
T
- =
al
S o
<t
LO =
REVISIONS
)
-
<
|_
LLl
=)
o
<
|_
N
PROJ. #: 23-12-045
CHECKED BY: RHA
DRAWN BY: MM
DATE: 02.14.2024
SHEET

S4.2




Date: 2/14/2024 4:23:20 PM

o

L\

TYPICAL BACKUP LOOP OPTIONS FOR CRITICAL LIFE SAFETY APPLICATIONS

®*=¢=@==_¢_

-_

al

O

SCALE: 3/4"=1'-0"

LOCK WASHER FOR
WOOD COLUMNS

MIN. 2 1/4x 2 1/4
CURVED WASHER

LOCK WASHER FOR
WOOD COLUMNS

MIN. 2 1/4x2 1/4
CURVED WASHER

LOCK WASHER FOR
WOOD COLUMNS

MIN. 2 1/4x2 1/4
CURVED WASHER

OPTIONAL CABLE ATTACHMENT DETAILS

&= 7

COLUMN OR BEAM
/ PER PLANS, TYP.

MIN. 5/8" THIMBLE
EYE BOLT PER GSN'S

WIRE ROPE THIMBLE

MIN. 5/8" OVAL EYE
BOLT OR NUT EYE
BOLT PER GSN'S

MIN. 5/8" ANGLED
THIMBLE EYE
BOLT PER GSN'S

WRAPPED COLUMN
CONNECTION FOR
ACTIVITY SUPPORT

WRAPPED COLUMN
CONNECTION FOR
ACTIVITY SUPPORT

CRITICALLY WRAPPED
COLUMN CONNECTION
FOR ANGLED ORIENTATION

SWAGE PER GSN'S

CRIMP SPECIFICATIONS
PER MANUFACTURER

SWAGE MUST BE FULLY ENGAGED

_ 9

HMIN. 1 SWAGE LENGTH

W1 CLIP BASE WIDTH SPACING MIN.

—

L

3
4
\J

SERVING SLEEVE
OR EQUIVALENT

CABLE CLAMPS OR
FIST GRIPS PER GSN'S

SCALE: 3/4"=1'-0"

LOCK WASHER FOR
WOOD COLUMNS

MIN. 2 1/4x 2 1/4
CURVED WASHER

LOCK WASHER FOR
WOOD COLUMNS

MIN. 2 1/4x2 1/4
CURVED WASHER

LOCK WASHER FOR
WOOD COLUMNS

MIN. 2 1/4x2 1/4
CURVED WASHER

COLUMN OR BEAM
/ PER PLANS, TYP.

MIN. 5/8" THIMBLE
EYE BOLT PER GSN'S

WIRE ROPE THIMBLE

MIN. 5/8" OVAL EYE
BOLT OR NUT EYE
BOLT PER GSN'S

MIN. 5/8" ANGLED
THIMBLE EYE
BOLT PER GSN'S

TYPICAL ACTIVITY SUPPORT SYSTEMS CONNECTION OPTIONS

WRAPPED COLUMN
CONNECTION FOR
ACTIVITY SUPPORT

NOTE: 3/8" WIRE ROPE OPTIONS SHOWN. FOR
LARGER DIAMETERS, SEE GSN'S AND
MANUFACTURER RECOMMENDATIONS.

MIN. 1/2 POLE RADIUS

WRAPPED COLUMN
CONNECTION FOR
ACTIVITY SUPPORT

MIN. 1/2 POLE RADIUS SWAGE PER GSN'S

SWAGE MUST BE
FULLY ENGAGED

WRAPPED COLUMN
CONNECTION FOR
ACTIVITY SUPPORT

W1 CLIP BASE WIDTH SPACING MIN.

I — | 2
v

|~ SERVING SLEEVE
OR EQUIVALENT

CABLE CLAMPS OR
FIST GRIPS PER GSN'S

O

SCALE: 3/4"=1'-0"

5/8" @x6" LONG STEEL LAG BOLT
/ (ASTM A307) GALVANIZED, TYP.2

PRUSSIC KNOT

MIN. 2 1/4x2 1/4 CURVED igﬁsﬁg#lUSTABLE
WASHER, TYP. 2
MIN. 5/8" OVAL EYEBOLT
OR NUT EYEBOLT, TYP. 2
MIN. 1/2" @

ROPE SPLICE, TYP. 2 MULTILINE ROPE

1/2" RAPID LINK, TYP. 2

HORIZONTAL INLINE HAND ROPE

LEAP ANCHOR - CMIBOLT
HANGER, GALVANIZED, TYP. 2

PRUSSIC KNOT
FOR ADJUSTABLE
TENSION

1/2" @ RAPID LINK

PER GSN'S, TYP. 2

\ MIN. 1/2" @

MULTILINE
ROPE

ROPE SPLICE, TYP. 2

HORIZONTAL OFFSET HAND ROPE

TYPICAL ACTIVITY ROPE CONNECTION OPTIONS

CABLE CLAMP, PER GSN'S

1/2" RAPID LINK

ROPE THIMBLE ——

MIN. 1/2" MULTIVINE

VERTICAL/ANGLED ROPE SUSPENDED FROM
HORIZONTAL SUPPORT

| N
(541) 389-9659

T

P— |

A‘J—'
z
k VR
Lo it
=52
W\ =z g&4
Y / /8

5 POLE ROPES COURSE
DC SPORTS
1630 US-9
WAPPINGERS FALLS, NY 12590

O

SCALE: 3/4"=1'-0"

PERMIT SET

REVISIONS

0p)

=

<

-

L

(-

—l

<

o

-

-

O

=

o

-

0p)
PROJ. #: 23-12-045
CHECKED BY:  RHA
DRAWN BY: MM
DATE: 02.14.2024
SHEET

S4.3




Date: 2/14/2024 4:23:20 PM

CABLE CLAMP, PER GSN'S

ROPE THIMBLE

1/2" RAPID LINK

\ MIN. 1/2" MULTIVINE

VERTICAL/ANGLED ROPE SUSPENDED FROM
HORIZONTAL SUPPORT OPTION 1

FISTGRIP OR CABLE

CLAMP, PER GSN'S

ROPE THIMBLE

VERTICAL/ANGLED ROPE SUSPENDED FROM
HORIZONTAL SUPPORT OPTION 2

VERTICAL OR ANGLED WIRE ROPE CONNECTION OPTIONS

PRUSSIC KNOT
FOR PLACEMENT

1/2" RAPID LINK !

\ MIN. 1/2" MULTIVINE

\ MIN. 1/2" MULTIVINE

CABLE CLAMP PER GSN'S

WIRE ROPE PER PLANS

1/2" RAPID LINK PER GSN'S

THIMBLE

SWAGE PER GSN'S

77T R

Jb 3/8" WIRE ROPE

VERTICAL/ANGLED ROPE SUSPENDED FROM
HORIZONTAL SUPPORT OPTION 3

SUSPENDED VERTICAL WIRE ROPE

O

SCALE: 3/4"=1'-0"

X

WIRE ROPE

LUMBER PER PLANS

s

WASHER
SWAGE

CABLE LOOP

ROPE

LUMBER PER PLANS

S

A

WASHER

KNOT

Eg}/ 4x4 MIN.

P~—_ CABLE CLAMP

\ WIRE ROPE

PER PLAN

o

SUSPENDED LUMBER WITH ROPE OR ROPE WIRE CONNECTION OPTIONS

RAPID LINK PER GSN'S

.

I

2

WIRE ROPE PER PLAN

—=H

WOOD POST PER PLAN

SCALE: 3/4"=1'-0"

3/8" DIA. WIRE ROPE PER GSN'S

INSTALLED VERTICALLY w/
CONNECTIONS PER ACTIVITY
SUPPORT SYSTEMS CONNECTION

OPTIONS IN TYP. DETAILS

RAPID LINK OR DROP CABLE CONNECTION FOR WOOD POST

SCALE: 3/4"=1'-0"

NOTE: OTHER FRAMING NOT
SHOWN FOR CLARITY

/ WOOD POLE PER PLAN

3/4" @ THRU BOLT OR
THREADED ROD W/ STD
NUT AND WASHER AT
EACH END

2 1/2'T Tz 1/2"
LE %\l
[ }
I
I
I
I
~ =

WOOD BEAMS AT WOOD POLE

WOOD BEAM PER SCHED.

SCALE: 3/4"=1'-0"

O

SCALE: 3/4"=1'-0"

FISTGRIPS OR CABLE CLAMPS PER GSN'S

AT FIXED LOCATIONS AS NECESSARY
WIRE ROPE
WIRE ROPE . 3-0" MAX, TYP. . PER PLANS
PER PLANS ‘
: = !
H W) H W) J

CARGO NET /
PER PLANS

RAPID LINK
PER GSN'S

o J=o
o e

~ ~

D—— ROPE PER PLANS

CARGO NET CONNECTION

SCALE: 3/4"=1'-0"

(1) 5/8" DIA. THRU BOLT OR
THREADED ROD W/ STD
NUT AND WASHER AT
EACH END

WOOD BEAM PER PLAN —

BACKUP PER TYPICAL DETAILS I
NOT SHOWN FOR CLARITY \ H

HORIZONTAL WOOD —— @
POLE PER PLANS

HORIZONTAL WOOD POLE AT WOOD PLATFORM BEAM
SCALE: 3/4"=1'-0"

O

WOOD PER PLAN
% SCREWS

f'\c
( : ] WIRE ROPE PER PLAN

MENDING PLATE AND
GROOVE

[ WOOD PER PLAN

N

% WIRE ROPE PER PLAN
U-BOLT w/ WASHERS

U-BOLT

WOOD TO WIRE ROPE CONNECTION OPTIONS

BOLT w/ WASHERS

—— WOOD PER PLAN

SANDWICH AND WIRE ROPE PER PLAN

GROOVE

4x4 MIN.
/ CABLE CLAMP
= a’/ )
U | ZAN | \ 0
WIRE ROPE PER PLAN

PASS THROUGH

—~

@

SCALE: 3/4"=1'-0"

WOOD POLE
/ PER PLANS

1-3" TYP.

6" CLIMBING
STAPLE, 60%
EMBEDMENT

CLIMBING STAPLES AT WOOD POLE

O

SCALE: 3/4"=1'-0"

3/4" @ THRU BOLT

4" MIN. SQUARE
CURVED WASHER,
TYP.

HORIZONTAL WOOD
POLE PER PLANS

3/4" @ THRU BOLT OR
THREADED ROD W/ STD
NUT AND WASHER AT

EACH END

. WOOD POLE

PER PLANS

HORIZONTAL BELAY/ELEMENT POLE TO WOOD POLE CONNECTION

SCALE: 3/4"=1'-0"

(o)

| N
(541) 389-9659

]
AU-'
=
o
Z bt
(O]
=
S— L
S &
<E'_|LIJ
I I Iw o Z
mr\@
=5 =
2 W
W\ Z g5y
Saoa
LDZd
Y / /BOEEE

5 POLE ROPES COURSE
DC SPORTS
1630 US-9
WAPPINGERS FALLS, NY 12590

REVISIONS
N
—
<(
—
Ll
o
—
<T
BACKUP PER TYP. oZ
DETAILS NOT SHOWN -
FOR CLARITY —
( O
@ )
I -
I | 3/4" @ THRU BOLT OR —
L@./ THREADED ROD W/ STD
NUT AND WASHER AT Jp)
l EACH END
WOOD POLE
\\/QJ\ PER PLANS
PROJ. #: 23-12-045
CHECKED BY: RHA
DRAWN BY: MM
DATE: 02.14.2024
SHEET

PERMIT SET

S4.4




	Sheets
	S0.1 - GENERAL STRUCTURAL NOTES & SIS
	S1.0 - SITE PLAN
	S2.0 - PLAN VIEW
	S2.1 - NORTH AND SOUTH ELEVATIONS
	S2.2 - EAST AND WEST ELEVATIONS
	S2.3 - SECTION VIEW ELEVATION
	S4.0 - STRUCTURAL DETAILS
	S4.1 - STRUCTURAL DETAILS
	S4.2 - STAIR DETAILS
	S4.3 - STRUCTURAL DETAILS
	S4.4 - STRUCTURAL DETAILS


		2024-02-14T16:34:59-0800
	Rolf Henry Armstrong




